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QUESTION 1

TCP is a reliable connection-oriented protocol for connection. Which of the following mechanisms is used to guarantee
the reliability of transmission? (multiple choice) 

A. Acknowledgement mechanism 

B. Buffering 

C. Source quench messages (source quench messages) 

D. Retransmit mechanism 

Correct Answer: AD 

 

QUESTION 2

On the VRP platform, direct routing, static routing, RIP, and OSPF are sorted according to the default route priority from
high to low. 

A. Direct route, static route, RIP, OSPF 

B. Direct routing, OSPF, static routing, RIP 

C. Direct routing, OSPF, RIP, static routing 

D. Direct routing, RIP, static routing, OSPF 

Correct Answer: B 

 

QUESTION 3

What is the role of the ppp peer hostroute-suppress command? 

A. Turn off the PPP host route learning function. 

B. Enable the function of requesting the IP address from the peer 

C. Enable the function of accepting the remote request IP address 

D. Enable the function of statically assigning IP addresses. 

E. None of the above 

Correct Answer: A 

 

QUESTION 4

What are the following descriptions of shared Ethernet defects? (multiple choice) 
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A. Serious conflict 

B. Broadcast flooding 

C. Poor security 

D. Carrier sensing 

Correct Answer: ABC 

 

QUESTION 5

In the STP calculation, when the port is in the following options, the data frame is not forwarded, and the 

MAC address table is not learned. 

In this state, the port receives and processes STP packets, but does not send STP packets. 

A. Listening 

B. Blocking 

C. Learning 

D. Forwarding 

Correct Answer: B 
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